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(a) izfrtSfod (b) ihM+kgkjh

(c) izfrvEy (d) izfrjks/h

120. fuEufyf[kr esa ls dkSu lk ,d ewy ek=kd gS\

(a) ehVj2 (b) ehVj@ls-

(c) eksy (d) okV

121. f}rh; iapo"khZ; ;kstuk ds lUnHkZ esa fuEufyf[kr
dFkuksa ij fopkj djsa&

1- ;g egkyuksfcl ekWMy ij vkèkkfjr FkhA

2- blesa lektoknh <ax ds lekt dh LFkkiuk
dks Lohdkj fd;k x;kA

mijksDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa \

(a) dsoy 1 (b) dsoy 2

(c) 1 rFkk 2 nksuksa (d) u rks 1 u gh 2

122. fuEufyf[kr ij fopkj djsa&

(jksx) (fo"kk.kq)

1- cMZ&Ýyw & H1N1

2- Lokbu Ýyw & H5N1

3- MkWx Ýyw & H3N8

mijksDr esa ls dkSu&lk@ls lgh lqesfyr ugha
gS@gSa\

(a) dsoy 1 (b) dsoy 2

(c) 1 vkSj 2 (d) 1] 2 vkSj 3

123. fuEufyf[kr esa ls dkSu&lh jkf'k Hkkjr dh lafpr
fufèk esa tek ugha dh tk,xh&

(a) jkt gqf.M;ksa ds fuxZeu }kjk vftZr jkf'k

(b) Hkkjr ljdkj }kjk izkIr lHkh jktLo

(c) U;kf;d tek

(d) mijksDr esa ls dksbZ ugha

124. ok;jl laØfer dksf'kdkvksa }kjk mRikfnr os
izksVhu] tks vU; LoLFk dksf'kdkvksa dks ok;jl ls
lqj{kk iznku djrs gSa] dgykrs gSa\

(a) Antibiotics (b) Analgesic

(c) Antiacid (d) Resistant

120.Which one of the following is a basic unit?

(a) Metre2 (b) Metre/Sec.

(c) Mole (d) Watt

121.Consider the following statements
regarding Second Five Year Plan :

1. This was based on Mahalanobis
Model.

2. In it the establishment of socialist
society was accepted.

Which of the above statements is/are
correct ?
(a) Only 1 (b) Only 2
(c) 1 and 2 both (d) Neither 1 nor 2

122.Consider the following :

(Disease) (Virus)
1. Bird Flu – H1N1

2. Swine Flu – H5N1

3. Dog Flu – H3N8

Which of the above is/are not correctly
matched ?

(a) Only 1 (b) Only 2

(c) 1 and 2 (d) 1, 2 and 3

123.Which of the following amount will not be
deposited in the consolidated funds of India?

(a) Amount received by the issue of
treasury bills.

(b) All the revenue received by the
central government.

(c) Judicial Deposits.

(d) None of the above

124.The proteins produced by virus infected
cells, which gives protection to healthy
cells, are called :


